



اسم: \_\_\_\_\_

التاريخ: \_\_\_\_\_ النتيجة \_\_\_\_\_

$$\left(\frac{1}{4}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{3} =$$

$$\left(\frac{2}{5}\right) - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^0 - \frac{1}{6} =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{5}\right) =$$



اسم: \_\_\_\_\_

التاريخ: \_\_\_\_\_ النتيجة \_\_\_\_\_

$$\left(\frac{1}{4}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{4}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{4} = \left(-\frac{75}{64}\right) = \left(-1\frac{11}{64}\right)$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{3} = \left(-\frac{5}{24}\right)$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{2}{5}\right) = \frac{3}{20}$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{3}{5}\right) = \frac{102}{125}$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{2}{5}\right) = (-1)$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{3} = \left(-\frac{17}{192}\right)$$

$$\left(\frac{2}{5}\right) - \frac{1}{2} = \left(-\frac{1}{10}\right)$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{3} = \frac{19}{48}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{2}{5} = \frac{13}{20}$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{3}{4}\right) = \left(-\frac{23}{20}\right) = \left(-1\frac{3}{20}\right)$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{36}\right)$$

$$\left(\frac{1}{6}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{287}{750}\right)$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{221}{1080}\right)$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{2} = \frac{5}{8}$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{3} = \left(-\frac{101}{375}\right)$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{371}{500}\right)$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{5}\right) = \left(-\frac{1}{20}\right)$$